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99. mﬁg(?)ﬁwmma@ﬁﬁﬁﬁﬁmﬂﬁm

Choose the appropriate figure from the Answer Figures to replace the question mark (?).

(A) m ®) ﬁ "I-_(IC) m ) m

100. % faerey g #fw s 799 96 % T T 3|
Find out the alternative which will replace the question mark.
16 7258847 |
9 B) 5 () 7 (D) 20

101. W% 1 favemo st W F1 3R Sieg|

By analysing the graph, answer the question.

Foreign Exchange
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1994-1995

1995-1996
1996-1997
E %’Q

1992-1993 =2520
1993-1994 =4201
1994-1995=3720
1995-1996 =5040
1996-1997=3120

ferr = ereel 91 ofe ¥ frat o 3t e 4 Wi 9f W o 37

For which year, the g Ee. | |
highest ? f Percentage increase of foreign exchange reserves over the previous year, is the

(A) 19971994 (B) 19921993 *(C) 19941995 (D) 19961897
102. *ET H 9 FENY (A88) 31 X st B — A 71 917 9 ¢ | |

Find the missing numbers (AgR) i : .
51,57,63,A,75,81,B (A&B) in the series and find the value of B - A.

14
o 4 AR © 2 ©) 18

RZX-24 14
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140.

141.

et fog o gaam (Fei=e) it 9en 3@ Ff |

Determine the number of pentagons in the following figure.

Pk

(A) 10 (B) 5 (c) 65 (D) 8

ﬁqmﬁﬁ@,wmmwaﬁeﬁﬁﬁmqﬁ%mﬁmw%' ;

From the figures given, select the one which is most suitable as the last part of the figure.

~,

A 526 8, B 25 3 T AR ZH 1 & whreenfi fore ST &, O ULTRA 915 3 o Tt

142.
! Heait & 4 w1 8 ? .
If Ais substituted by 26, B by 25 and so on upto Zby 1. What will be the sum of numbers substituted
for the word ULTRA ?
(A) 61 B). 71 (C) 68 (D) 63
- 143. o e @ g1 T T S et el R ¥ o e 3 A 1 39 S e o it 3 3 I8,
oot T AR 38, SR Wt EE AfeF a7, T 3E g fopa walt s 2
A hunter was asked how many birds he had caught and had in his bag. He replied that there were all
parrots but eight, all ducks but eight, and all swans but__ 'ei_ght. How many birds did he catch in total ?
(A) 10 ® 9 () 18- D) 12
144, @ T sfEen & x T H | oo
Find x from the given series. s,
12, 16,24, 36,x, 72 ' |
(A) 62 (B) 52 (C) 50 (D) 48
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